	B = N  dec = N
	B = N  dec = N
	B = N  dec = N
	B = N  dec = N

	LHA < 180º
	LHA < 180º
	LHA > 180º
	LHA > 180º

	14/06/2015
14:07:52 UT1

Bap = 43.316667 º =  43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 31.912186 º =  31º 54.7'
Dec = 23.260716 º =  23º 15.6'
SD = 15.7468 '
HP = 0.1443 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 29.912186 º =  29º 54.7'
Hc = 58.2461 º =  58º 14.8'
Z = 240.5 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 29.9121857778053 º
Hc  = 58.2461146006459 º
Hc  = 58.2461146006459 º (sg)
Zn  = 240.5 º
Doniol-Hanno method Hc:
a = 0.0666046450059457
m = 0.301244925896313
n = 0.0303209103699021
hv(ZD) = 0.074841730555237
Lars Bergman method Zn:
a = 0.302542158592521
m = 0.60022077851989
n = 0.0168781025785726
hv(Z) = 0.746051766141239
Doniol-Hanno method Hc (sg):
a = 0.0666046450059457
m = 0.301244925896313
n = 0.0303209103699021
hv(ZD) = 0.074841730555237
Hanno Z diagram:
Z   = 60.5 º
t   = -29.9121857778053 º
Z   = N60.5W º
	14/06/2015
18:35:23 UT1

Bap = 43.316667 º =  43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 98.781449 º =  98º 46.9'
Dec = 23.269672 º =  23º 16.2'
SD = 15.7465 '
HP = 0.1443 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 96.781449 º =  96º 46.9'
Hc = 11.0752 º =  11º  4.5'
Z = 291.6 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 96.7814488797577 º
Hc  = 11.0752165320735 º
Hc  = 11.0752165320735 º (sg)
Zn  = 291.6 º
Doniol-Hanno method Hc:
a = 0.559041230796147
m = 0.301316646691295
n = 0.0302941125059018
hv(ZD) = 0.403951256335203
Lars Bergman method Zn:
a = 0.302470355132413
m = 0.208880923920464
n = 0.077096279996225
hv(Z) = 0.315639887651279
Doniol-Hanno method Hc (sg):
a = 0.559041230796147
m = 0.301316646691295
n = 0.0302941125059018
hv(ZD) = 0.403951256335203
Hanno Z diagram:
Z   = 68.4 º
t   = -96.7814488797577 º
Z   = N68.4W º
	14/06/2015
05:43:59 UT1

Bap = 43.316667 º =  43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 265.959950 º = 265º 57.6'
Dec = 23.243205 º =  23º 14.6'
SD = 15.7473 '
HP = 0.1443 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 263.959950 º = 263º 57.6'
Hc = 11.5596 º =  11º 33.6'
Z = 68.9 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 263.959949653333 º
Hc  = 11.5595958477244 º
Hc  = 11.5595958477244 º (sg)
Zn  = 68.9 º
Doniol-Hanno method Hc:
a = 0.552611809418821
m = 0.30110472189668
n = 0.0303733347938304
hv(ZD) = 0.399806455522274
Lars Bergman method Zn:
a = 0.302682552173489
m = 0.212327920055716
n = 0.0748563605256352
hv(Z) = 0.319614432512322
Doniol-Hanno method Hc (sg):
a = 0.552611809418821
m = 0.30110472189668
n = 0.0303733347938304
hv(ZD) = 0.399806455522274
Hanno Z diagram:
Z   = -68.9 º
t   = 96.0400503466673 º
Z   = S68.9E º
	14/06/2015
08:56:53 UT1

Bap = 43.316667 º =  43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 314.177839 º = 314º 10.7'
Dec = 23.250008 º =  23º 15.0'
SD = 15.7471 '
HP = 0.1443 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 312.177839 º = 312º 10.7'
Hc = 46.0257 º =  46º  1.5'
Z = 101.3 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 312.177839226404 º
Hc  = 46.0257316263333 º
Hc  = 46.0257316263333 º (sg)
Zn  = 101.3 º
Doniol-Hanno method Hc:
a = 0.164282994088831
m = 0.301159184585522
n = 0.0303529643249306
hv(ZD) = 0.14017415001393
Lars Bergman method Zn:
a = 0.302628011442706
m = 0.494261468513264
n = 0.000558795205615285
hv(Z) = 0.597944047520142
Doniol-Hanno method Hc (sg):
a = 0.164282994088831
m = 0.301159184585522
n = 0.0303529643249306
hv(ZD) = 0.14017415001393
Hanno Z diagram:
Z   = -78.7 º
t   = 47.822160773596 º
Z   = S78.7E º

	
	B = N  dec = S
	B = S  dec = N
	B = S  dec = S

	
	14/12/2015
14:07:52 UT1

Bap = 43.316667 º =  43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 33.329353 º =  33º 19.8'
Dec = -23.207919 º = -23º 12.5'
SD = 16.2475 '
HP = 0.1489 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 31.329353 º =  31º 19.8'
Hc = 17.5089 º =  17º 30.5'
Z = 210.1 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 31.3293534578316 º
Hc  = 17.5089201561092 º
Hc  = 17.5089201561092 º (sg)
Zn  = 210.1 º
Doniol-Hanno method Hc:
a = 0.0729037195777864
m = 0.0304791121951688
n = 0.300822243381872
hv(ZD) = 0.349572861836929
Lars Bergman method Zn:
a = 0.697034474849872
m = 0.256265107031371
n = 0.0498700404957071
hv(Z) = 0.93269522450616
Doniol-Hanno method Hc (sg):
a = 0.0729037195777864
m = 0.0304791121951688
n = 0.300822243381872
hv(ZD) = 0.349572861836929
Hanno Z diagram:
Z   = 30.1 º
t   = -31.3293534578316 º
Z   = N30.1W º
	14/06/2015
14:07:52 UT1

Bap = -43.316667 º = -43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 31.912186 º =  31º 54.7'
Dec = 23.260716 º =  23º 15.6'
SD = 15.7468 '
HP = 0.1443 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 29.912186 º =  29º 54.7'
Hc = 17.9670 º =  17º 58.0'
Z = 331.2 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 29.9121857778053 º
Hc  = 17.9669598797414 º
Hc  = 17.9669598797414 º (sg)
Zn  = 331.2 º
Doniol-Hanno method Hc:
a = 0.0666046450059457
m = 0.0303209103699021
n = 0.301244925896313
hv(ZD) = 0.345765746081648
Lars Bergman method Zn:
a = 0.697457841407478
m = 0.259762929758777
n = 0.0481442717939623
hv(Z) = 0.938188594174477
Doniol-Hanno method Hc (sg):
a = 0.0666046450059457
m = 0.0303209103699021
n = 0.301244925896313
hv(ZD) = 0.345765746081648
Hanno Z diagram:
Z   = 28.8 º
t   = -29.9121857778053 º
Z   = N28.8W º
	14/12/2015
14:07:52 UT1

Bap = -43.316667 º = -43º 19.0'
Lap = -2.000000 º =  -2º  0.0'

ALMANAQUE NAUTICO - NAUTICAL ALMANAC
Sun
GHA = 33.329353 º =  33º 19.8'
Dec = -23.207919 º = -23º 12.5'
SD = 16.2475 '
HP = 0.1489 '

DETERMINANTE DE LA RECTA DE ALTURA - Marcq St Hilaire LoP
LHA = 31.329353 º =  31º 19.8'
Hc = 57.3032 º =  57º 18.2'
Z = 297.8 º

Doniol-Hanno-Bergman Haversine SR:
LHA = 31.3293534578316 º
Hc  = 57.3031560205923 º
Hc  = 57.3031560205923 º (sg)
Zn  = 297.8 º
Doniol-Hanno method Hc:
a = 0.0729037195777864
m = 0.300822243381872
n = 0.0304791121951688
hv(ZD) = 0.0792297306502262
Lars Bergman method Zn:
a = 0.302965525150127
m = 0.592145703439518
n = 0.0148236271228637
hv(Z) = 0.733128278359449
Doniol-Hanno method Hc (sg):
a = 0.0729037195777864
m = 0.300822243381872
n = 0.0304791121951688
hv(ZD) = 0.0792297306502262
Hanno Z diagram:
Z   = 62.2 º
t   = -31.3293534578316 º
Z   = N62.2W º
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